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1. A torque meter is calibrated to reference standards of mass, length and time each with 5% accuracy. After

calibration, the measured torque with this torque meter will have net accuracy of :

fdlh VkWdZehVj (cyk?kw.kZ ekih) dks nzO;eku] yEckbZ ,oa le; ds ekudksa ds lkis{k esa va'k'kks/ku ds i'pkr] bl VkWdZehVj

ls ekis x, cyk?kw.kZ dh ifj.kkeh 'kq)rk gksxh %

(1) 15%

(2) 25%

(3) 75%

(4) 5%

Question ID:11694031

Ans. Official Answer NTA (2)

Sol.

2. A bullet is shot vertically downwards with an initial velocity of 100 m/s from a certain height. Within

10s, the bullet reaches the ground and instantaneously comes to rest due to the perfectly collision. The

velocity-time curve for total time t = 20s will be :

(Take g = 10m/s2).

fdlh fu;r Å¡pkbZ ls] ,d xksyh 100 m/s ds izkjfEHkd osx ls m/okZ/kjr% uhps dh vksj nkxh tkrh gSA ;g xksyh 10s esa

/kjkry ij igq¡prh gS] ,oa mlh {k.k vkn'kZ vizR;kLFk la?kê ds dkj.k foJke voLFkk eas vk tkrh gSA dqy le; t = 20s

ds fy,] osx&le; oØ vkjs[k gksxk %

(;fn g = 10m/s2).

(1) 

 v

-100 m/s

-200 m/s

10s 20s
t

(2) 10s 20s
t

-100 m/s

-200 m/s

+100 m/s

 v

(3)    

 v

-100 m/s

10s 20s
t

(4) 

 v

-100 m/s

+100 m/s

10s 20s
t
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Question ID:11694032

Ans. Official Answer NTA (1)

Sol.

3. Send is being dropped from a stationary dropper at a rate of 0.5 kgs–1 on a conveyor belt moving with a

velocity of 5 ms–1. The power needed to keep the belt moving with the same velocity will be :

fdlh fLFkj MªkWij ls] jsr 0.5 kgs–1 dh nj ls] 5 ms–1 ds osx ls ?kwerh gqbZ ,d duos;j cSYV ij fxj jgk gSA cSYV dks leku

osx ls ?kwers gq, j[kus ds fy, vko';d 'kfä dk eku gksxk  :

(1) 1.25 W

(2) 2.5 W

(3) 6.25 W

(4) 12.5 W

Question ID:11694033

Ans. Official Answer NTA (4)

Sol.

4. A bag is gently dropped on a conveyor belt moving at a speed of 2 m/s. The coefficient of friction between the

conveyor belt and bag is 0.4. Initially, the bag slips on the belt before it stops due to friction. The distance

travelled by the bag on the belt during slipping motion, is : [Take g = 10 m/s–2]

,d cSx] 2 m/s dh pky ls ?kwerh gqbZ dUkos;j cSYV ds Åij vkjke ls fxjk;k tkrk gSA duos;j cSYV ,oa cSx ds chp ?k"kZ.k

xq.kkad dk eku 0.4 gSA vkjEHk esa] cSx cSYV ij fQlyrk gS] fQj ?k"kZ.k ds dkj.k :d tkrk gSA fQlyus ds nkSjku] cSx }kjk

cSYV ij r; dh xbZ nwjh dk eku gS  :

[g = 10 m/s–2]

(1) 2 m

(2) 0.5 m

(3) 3.2 m

(4) 0.8 ms

Question ID:11694034

Ans. Official Answer NTA (2)

Sol.
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5. Two cylindrical vessels of equal cross–sectional area 16 cm2 contain water upto heights 100 cm and 150 cm

respectively. The vessels are interconnected so that the water levels in them become equal. The work done by

the force of gravity during the process, is [Take, density of water = 103 kg/m3 and g = 10 ms–2] :

16 cm2 leku vuqizLFk dkV {ks=kQy okys nks csyukdkj crZuksa esaa Øe'k% 100 cm ,oa 150 cm Å¡pkbZ rd ikuh Hkjk gSA

crZuksa dks vkil es bl izdkj tksM fn;k tkrk gS fd nksuksa esa ikuh dk Lrj leku gks tk,A bl izØe esa xq:Ro cy }kjk

fd;s x;s dk;Z dk eku gksxk %

[ekuk] ikuh dk ?kuRo = 103 kg/m3 and g = 10 ms–2] :

(1) 0.25 J

(2) 1J

(3) 8 J

(4) 12 J

Question ID:11694035

Ans. Official Answer NTA (2)

Sol.

6. Two satellites A and B, having masses in the ratio 4 : 3, are revolving in circular orbits of radii 3r and 4r

respectively around the earth. The ratio of total mechanical energy of A to B is :

nks mixzg A ,oa B ftuds nzO;ekuksa dk vuqikr 4 : 3 gS] ;s i`Foh ds pkjksa rjQ viuh & viuh o`Ùkh; d{kkvksa esa ?kwe jgs gSa]

ftudh f=kT;k;sa Øe'k% 3r ,oa 4r gSaA A ,oa B dh dqy ;kaf=kd ÅtkZvksa dk vuqikr gS :

(1) 9 : 16

(2) 16 : 9

(3) 1 : 1

(4) 4 : 3

Question ID:11694036

Ans. Official Answer NTA (2)

Sol.

7. If K
1
 and K

2
 are the thermal conductivities, L

1
 and L

2
 are the lengths and A

1
 and A

2
 are the cross sectional

areas of steel and copper rods respectively such that 
2 1 1

1 2 2

K A L
9, 2, 2

K A L
   . Then, for the arrangement as

shown in the figure, the value of temperature T of the steel – copper junction in the steady state will be :
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LVhy ,oa rk¡cs dh nks NM+ksa dh Å"eh; pkydrk Øe'k%  K
1
 ,oa K

2
 yEckbZ L

1
 ,oa L

2
 ,oa vuqizLFk dkV ds {ks=kQy A

1
 ,oa

A
2
 bl izdkj gSa fd 

2 1 1

1 2 2

K A L
9, 2, 2

K A L
   gSA rks fp=k esa fn[kkbZ xbZ O;oLFkk ds fy,] lkE;koLFkk esa] LVhy ,oa rk¡cs

dh laf/k ij rkieku (T) dk eku gksxk %

T

Steel
Copper

Ice box 
0°C Furnace

450°C 

Insulating
material

(1) 18°C

(2) 14°C

(3) 45°C

(4) 150°C

Question ID:11694037

Ans. Official Answer NTA (3)

Sol.

8. Read the following statements :

A. When small temperature difference between a liquid and its surrounding is doubled, the rate of loss of heat

of the liquid becomes twice.

B. Two bodies P and Q having equal surface areas are maintained at temperature 10°C and 20°C. The thermal

radiation emitted in a given time by P and Q are in the ratio 1 : 1. 15.

C. A Carnot Engine working between 100K and 400K has an efficiency of 75%.

D. When small temperature difference between a liquid and its surrounding is quadrupled, the rate of loss of

heat of the liquid becomes twice.

Choose the correct answer from the options given below :

(1) A, B, C only

(2) A, B only

(3) A, C only

(4) B, C, D only
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fuEufyf[kr dFkuks dks if<;s %

A. ;fn fdlh nzo ,oa mlds ifjos'k ds chp ds lw{e rkikUrj dk eku nks xquk gks tk, rks nzo dh Å"ek {k; dh nj nksxquh

gks tk,xhA

B. leku i`"B {ks=kQy okys nks fi.Mksa P ,oa Q dks Øe'k% 10°C ,oa 20°C rkieku ij j[kk x;k gSA fdlh fu;r le;

esa fi.M P ,oa Q ls mRlftZr Å"eh; fofdj.kksa dk vuqikr 1 : 1. 15 gSA

C. 100K ,oa 400K ds chp dk;Zjr fdlh dkuksZ batu dh n{krk 75% gksxhA

D. tc nzo ,oa mlds ifjos'k ds chp dk y?kq rkikUrj pkj xquk gks tkrk gS] rks nzo dh Å"ek {k; dh nj nksxquh gks tkrh

gSA

uhps fn, x, fodYiksa esa ls lgh mÙkj pqusa %

(1)  dsoy A, B, C

(2) dsoy A, B

(3) dsoy A, C

(4) dsoy B, C, D

Question ID:11694038

Ans. Official Answer NTA (1)

Sol.

9. Same gas is filled in two vessels of the same volume at the same temperature. If the ratio of the number of

molecules is 1 : 4, then

A. The r.m.s. velocity of gas molecules in two vessels will be the same.

B. The ratio of pressure in these vessels will be 1 : 4.

C. The ratio of pressure will be 1 : 1.

D. The r.m.s. velocity of gas molecules in two vessels will be in the ratio of 1 : 4.

Choose the correct answer from the options given below :

(1) A and C only

(2) B and D only

(3) A and B only

(4) C and D only

leku vk;ru ds nks crZuksa esa] leku rki ij] leku xSl j[kh gSA ;fn muds v.kqvksa dh la[;k dk vuqikr 1 : 4 gS] rks

A. nksuksa crZuksa esa xSl ds v.kqvksa dk r.m.s. (oxZ ek/; ewy) osx leku gksxkA

B. bu crZuksa esa nkc dk vuqikr 1 : 4 gksxkA
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C. nkc dk vuqikr 1 : 1 gksxkA

D. nksuksa crZuksa eas xSl ds v.kqvksa esa r.m.s. osx dk vuqikr 1 : 4 gksxkA

uhps fn, x, fodYiksa esa ls lgh mÙkj pqusa  :

(1) dsoy A ,oa C

(2) dsoy B ,oa D

(3) dsoy A ,oa B

(4) dsoy C ,oa D

Question ID:11694039

Ans. Official Answer NTA (3)

Sol.

10. Two identical positive charges Q each are fixed at a distance of ‘2a’ apart from each other. Another point

charge q
0
 with mass ‘m’ is placed at midpoint between two fixed charges. For a small displacement along the

line joining the fixed charges, the charge q
0
 executes SHM. The time period of oscillation of charge q

0
 will be

:

nks ,dleku /kukos'k  Q, ,d nwljs ls ‘2a’ nwjh ij fLFkj fd, x, gSaA nksuksa fLFkj vkos'kksa ds e/; fcUnq ij] fdlh vU; 'm'

nzO;eku ds vkos'k q
0
 dks j[kk tkrk gSA nksuksa fLFkj vkos'kksa dks tksMus okyh js[kk ds vuqfn'k ,d y?kq foLFkkiu ds dkj.k

vkos'k q
0
 ljy vkorZ xfr djus yxrk gSA vkos'k q

0
 ds nksyuksa dks vkorZdky gksxk :

(1) 

3 3
0

0

4 ma

q Q

 

(2) 
0

3 3
04 

q Q

ma

(3) 

2 3
0

0

2  ma

q Q

(4) 

3 3
0

0

8  ma

q Q

Question ID:11694040

Ans. Official Answer NTA (1)

Sol.
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11. Two sources of equal emfs are connected in series. This combination is connected to an external resistance  R.

The internal resistances of the two sources are r
1
 and r

2
 (r

1
 > r

2
). If the potential difference across the source of

internal resistance r
1
 is zero, then the value of R will be :

leku fo|qr okgd cy (emf) okys nks L=kksrksa  dks Js.kh Øe esa tksM+k x;k gS A bl la;kstu dks fdlh cká izfrjks/k R ds

lkFk tksMk tkrk gSA nksuksa L=kksrkssa dss vkarfjd izfrjks/k Øe'k% r
1
 ,oa r

2
 (r

1
 > r

2
) gSaA ;fn vkarfjd izfrjks/k r

1
 okys L=kksr  ij

foHkokUrj dk eku 'kwU; gS] rks R dk eku gksxk :

(1) 1 2r r

(2) 
1 2

1 2

r r

r r

(3) 
1 2

2

r r

(4) 2 1r r

Question ID:11694041

Ans. Official Answer NTA (1)

Sol.

12. Two bar magnets oscillate in a horizontal plane in earth’s magnetic field with time periods of 3s and 4s respectively.

If their moments of inertia are in the ratio of 3 : 2, then the ratio of their magnetic moments will be :

nks n.M pqEcd] fdlh {kSfrt ry esa Øe'k% 3s ,oa 4s ds vkorZ  dky ls i`Foh ds pqEcdh; {ks=k es nksyu dj jgh gSaA ;fn

muds tMRok?kw.kksZa dk vuqikr 3 : 2 gS] rks muds pqEcdh; vk?kw.kksZa dk vuqikr gksxk %

(1) 2 : 1

(2) 8 : 3

(3) 1 : 3

(4) 27 : 16

Question ID:11694042

Ans. Official Answer NTA (2)

Sol.

13. A magnet hung at 45° with magnetic meridian makes an angle of 60° with the horizontal. The actual value of the

angle of dip is –

,d pqEcd dks pqEcdh; ;keksÙkj (esjhfM;u) ls 45° dk dks.k cukrs gq, yVdk;k x;k gS] tks fd {kSfrt ls 60° dk dks.k

cukrh gSA ueu dks.k dk OkkLrfod eku gS &



Question Paper With Text Solution (Physics)
JEE Main July 2022 | 27 July  Shift-1

Page No. 9

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

(1) 
1 3

2

 
  
 

tan

(2)  1 6tan

(3) 
1 2

3

 
  
 

tan

(4) 
1 1

2

 
  
 

tan

Question ID:11694043

Ans. Official Answer NTA (1)

Sol.

14. A direct current of 4 A and an alternating current of peak value 4 A flow through resistance of 3  and 2

respectively. The ratio of heat produced in the two resistances in same interval of time will be :

4 A dk eku dh fn"V/kkjk (DC), 3  ds izfrjks/k ls ,oa 4A  f'k[kj eku dh izR;korhZ /kkjk (AC), 2  ds izfrjks/k ls

izokfgr gksrh gSaA leku le; varjkyksa esa nksuksa izfrjks/kksa esa mRiUu Å"ekvkas dk vuqikr gksxk %

(1) 3 : 2

(2) 3 : 1

(3) 3 : 4

(4) 4 : 3

Question ID:11694044

Ans. Official Answer NTA (2)

Sol.

15. A beam of light travelling along X-axis is described by the electric field 900sin ( / )  yE t x c . The ratio of

electric force to magnetic force on a charge q moving along Y-axis with a speed of 3 × 107 ms–1 will be :
(Given speed of light = 3 × 108 ms–1)

X-v{k ds vuqfn'k pyrs gq, izdk'k dk fdj.k iq¡t fuEu fo|qr {ks=k }kjk fu:fir gS % 900sin ( / )  yE t x c A ,d

vkos'k q tks fd Y-v{k ds vuqfn'k 3 × 107 ms–1 dh pky ls py jgk gS] bl vkos'k ij yxus okys fo|qr cy ,oa pqEcdh;

cy dk vuqikr gksxk  :

(izdk'k dh xfr nh xbZ gS = 3 × 108 ms–1)

(1) 1 : 1

(2) 1 : 10
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(3) 10 : 1

(4) 1 : 2

Question ID:11694045

Ans. Official Answer NTA (3)

Sol.

16. A microscope was initially placed in air (refractive index 1). It is then immersed in oil (refractive index 2). For

a light whose wavelength in air is , calculate the change of microscope’s resolving power due to oil and

choose the correct option.

(1) Resolving power will be 
1

4
in the oil than it was in the air..

(2) Resolving power will be twice in the oil than it was in the air.

(3) Resolving power will be four times in the oil than it was in the air.

(4) Resolving power will be 
1

2
in the oil than it was in the air..

dksbZ lw{en'khZ tks fd izkjEHk esa gok (vioZrukad =1) esa j[kk FkkA mls vc rsy (viorZukad = 2) esa Mqck;k tkrk gSA fdlh

izdk'k ftldk gok esa rjaxnS/;Z  gS] rsy ds dkj.k lw{en'khZ dh foHksnu {kerk es vk, ifjorZu dk ifjdyu dhft,A

lgh fodYi pqusaA

(1) rsy esa foHksnu {kerk
1

4
gks tk,xh] vius gok esa eku dh rqyuk esaA

(2) rsy esa foHksnu {kerk nksxquk gks tk,xh] vius gok esa eku dh rqyuk esaA

(3) rsy esaa foHksnu {kerk pkj xquk gks tk,xh] vius gok esa eku dh rqyuk esaA

(4) rsy esa foHksnu {kerk 
1

2
gks tk,xh] vius gok esa eku dh rqyuk esaA

Question ID:11694046

Ans. Official Answer NTA (3)

Sol.

17. An electron (mass m) with an initial velocity 
0 0
ˆ( 0) 


v v i v is moving in an electric field 

0 0
ˆ( 0) 


E E i E

where E
0
 is constant. If at t = 0 de Broglie wavelength is 0

0

 
h

mv , then its de Broglie wavelength after time

t is given by
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fdlh fo|qr {ks=k 
0 0
ˆ( 0) 


E E i E (E

0
 = fLFkjkad > 0) esa ,d bysDVªkWu (nzO;eku m) izkjfEHkd osx 

0 0
ˆ( 0) 


v v i v ls

py jgk gSA 0

0

 
h

mv , rks t le; ckn bldh Mh&czkWXyh rjaxnS/;Z fuEuor gksxh %

(1) 
0

(2) 
0

0

0

1
 

  
 

eE t

mv

(3) 0 t

(4) 

0

0

0

1



 
 

 

eE t

mv

Question ID:11694047

Ans. Official Answer NTA (4)

Sol.

18. What is the half–life period of a radioactive material if its activity drops to 1/16th of its initial value in 30 years

?

(1) 9.5 years

(2) 8.5 years

(3) 7.5 years

(4) 10.5 years

30 o"kksZa esa ;fn fdlh jsfM;kslfØ; inkFkZ dh lfØ;rk vius izkjfEHkd eku ls 1/16th de gks tk, rks mldh v)kZ;q D;k

gksxh ?

(1) 9.5 o"kZ

(2) 8.5 o"kZ

(3) 7.5 o"kZ

(4) 10.5 o"kZ

Question ID:11694048

Ans. Official Answer NTA (3)

Sol.
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19. A logic gate circuit has two inputs A and B and output Y. The voltage waveforms of A, B and Y are shown

below.

A

B

Y

The logic gate circuit is :

(1) AND gate

(2) OR gate

(3) NOR gate

(4) NAND gate

fdlh ykWftd xsV ifjiFk esaa nks fuos'k (buiqV) A ,oa B gSa rFkk fuxZr (vkmViqV) Y gSA A, B ,oa Y ds oksYVst oØ vkjs[k

uhps iznf'kZr gSaA

A

B

Y

ykWftd xsV ifjiFk gksxk %

(1) AND xsV

(2) OR xsV

(3) NOR xsV

(4) NAND xsV

Ans. Official Answer NTA (1)

Sol.
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20. At a particular station, the TV transmission tower has a height of 100 m. To triple its coverage range, height of

the tower should be increased to

fdlh fu;r LVs'ku ds fy,] TV (Vsyhfotu) ds izs"k.k VkWoj dh Å¡pkbZ 100 m gSA bldh izlkj.k nwjh (dojst  jast) dks

rhu xquk c<+kus ds fy, VkWoj dh Å¡pkbZ dks  c<+kuk pkfg, &

(1) 200 m

(2) 300 m

(3) 600 m

(4) 900 m

Question ID:11694050

Ans. Official Answer NTA (4)

Sol.

21. In a meter bridge experiment, for measuring unknown resistance ‘S’, the null point is obtained at a distance 30

cm from the left side as shown at point D. If R is 5.6 k, then the value of unknown resistance ‘S’ will be

______.

ehVj lsrq iz;ksx esa vkKkr izfrjks/k ‘S’ Kkr djus ds fy,] 'kwU; fo{ksi ck¡;h vksj ls 30 ls-eh- nwj fp=k esa n'kkZ;s fcUnq D

ij izkIr gksrk gSA ;fn R dk  eku 5.6 k gks] rks izfrjks/k, ‘S’ dk uke  ______gksxk A

30 cm 100-l

S R

G

0  10   20  30   40  50   60  70   80  90   100 

D

Question ID:11694051

Ans. Official Answer NTA (2400)

Sol.

22. The one division of main scale of Vernier callipers reads 1 mm and 10 divisions of Vernier scale is equal to the

9 divisions on main scale. When the two jaws of the instrument touch each other, the zero of  the Vernier lies to

the right of zero of the main scale and its fourth division coincides with a main scale division. When aspherical

bob is tightly placed between the two jaws, the zero of the Vernier scale lies in between 4.1 cm and 4.2cm and



Question Paper With Text Solution (Physics)
JEE Main July 2022 | 27 July  Shift-1

Page No. 14

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

6th Vernier division coincides with a main scale division. The diameter of the bob will be ____ × 10–2 cm.

ofuZ;j dSfyilZ ds eq[; iSekus dk ,d foHkktu 1 mm dk ikB nsrk gS ,oa ofuZ;j iSekus ds 10 foHkktu eq[; iSekus ds 9

foHkktuksa ds leku gSaA tc bl ;a=k ds nksuksa tcMs vkil esaa ,d&nwljs dks Nwrs gSa] rks ofuZ;j iSekus ds laikrh gksrk gSA tc

tcM+ksa ds chp ,d xksykdkj xksyd dks dlk tkrk gS] rks ofuZ;j iSekus dk 'kwU; 4.1 cm ,oa 4.2cm ds chp iM+rk gS ,oa

NV~ok¡ ofuZ;j foHkktu ds laikrh gksrk gSA

xksyd dk O;kl____ × 10–2 cm gksxkA

Question ID:11694052

Ans. Official Answer NTA (412)

Sol.

23. Two beams of light having intensities I and 4I interfere to produce a fringe pattern on a screen. The phase

difference between the two beams are /2 and /3 at points A and B respectively. The difference between the

resultant intensities at the two points is xI. The value of x will be ____.

fdlh  insZ ij fÝat iSVuZ cukus ds fy, I ,oa 4I rhozrk okyh nks  izdk'k fdj.k iq¡tksa dk O;frdj.k djk;k tkrk gSA fdlh

fcUnq A ij fdj.k iq¡tksa eas dykUrj /2 gS ,oa vU; fcUnq B ij dykUrj /3 gSA ifj.kkeh rhozrkvksa dk vUrj xI gSA x dk

eku ____gksxkA

Question ID:11694053

Ans. Official Answer NTA (2)

Sol.

24. To light, a 50 W, 100 V lamp is connected, in series with a capacitor of capacitance 
50




F
x

, with 200V,,

50HzAC source. The value of x will be____.

50 W, 100 V okyk ,d ySEi 
50




F
x

/kkfjrk okys la/kkfj=k ds lkFk Js.kh Øe esa tqM+k gS] ;g la;kstu 200V, 50Hz ds

izR;korhZ /kkjk (AC) L=kksr ls tksM+k gSA x dk eku ____gksxkA

Ans. Official Answer NTA (3)

Sol.

25. A 1 m long copper wire carries a current of 1A. If the cross section of the wire is 2.0 mm2 and the resistivity of

copper is 1.7 × 10–8 m, the force experienced by moving electron in the wire is ____ × 10–23 N.

(charge on electorn = 1.6 × 10–19 C)

 fdlh 1 m yEcs rk¡cs ds rkj esa] 1A eku dh /kkjk izokfgr gks jgh gSA ;fn rkj dh vuqizLFk dkV dk {ks=kQy 2.0 mm2 gS]
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,oa rk¡cs dh izfrjks/kdrk 1.7 × 10–8 m gSA rks rkj esa izokfgr bysDVªkWu }kjk vuqHko fd, tkus okyk cy_________

× 10–23 N gSA

(charge on electorn = 1.6 × 10–19 C)

Question ID:11694055

Ans. Official Answer NTA (136)

Sol.

26. A long cylindrical volume contains a uniformly distributed charge of density Cm–3. The electric field inside the

cylindrical volume at a distance 
02


x m from its axis is ____Vm–1.

fdlh yEcs csyukdkj vk;ru dk vkos'k ?kuRo Cm–3 gS] tks fd iwjs vk;ru esaa ,dleku :i ls QSyk gqvk gSA

csyukdkj vk;ru ds vanj bldh  v{k ls 
02


x m nwjh ij fo|qr {ks=k dk eku____Vm–1 gksxkA

x
L

Question ID:11694056

Ans. Official Answer NTA (1)

Sol.

27. A mass 0.9 kg, attached to a horizontal spring, executes SHM with an amplitude A
1
. When this mass passes

through its mean position, then a smaller mass of 124 g is placed over it and both masses move together with

amplitude A
2
. If the ratio 

1

2

A

A is 
1



 
, then the value of  will be _____.

fdlh {kSfrt fLIkzax ls tqMk gqvk dksbZ 0.9 kg nzO;eku A
1 
vk;ke ds lkFk ljy vko`rZ xfr dj jgk gSA tc ;g nzO;eku

viuh ek/; fLFkfr ls xqtjrk gS rks 124 g dk ,d gYdk nzO;eku blds Åij j[k fn;k tkrk gS] fQj nksuksa nzO;eku A
2
.

vk;ke ds lkFk xfr djrs gSaA ;fn 
1

2

A

A dk vuqikr 
1



 
 gS] rks  dk eku _____gksxkA

Question ID:11694057

Ans. Official Answer NTA (16)

Sol.

28. A square aluminum (shear modulus is 25 × 109 Nm–2) slab of side 60 cm and thickness 15 cm is subjected to
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a shearing force (on its narrow face) of 18.0 × 104 N. The lower edge is riveted to the floor. The displacement

of the upper edge is _____ m.

,sY;qfefu;e (vi:i.k xq.kkad = 25 × 109 Nm–2) dh 60 cm Hkqtk ,oa 15 cm eksVkbZ okyh fdlh  oxkZdkj iêh ij 18.0

× 104 N eku dk vi:i.k cy (blds irys okys i`"V ij) yxrk gSA ;fn fupyh fdukjh Q'kZ esa tM+h gqbZ gSA Åijh

fdukjh esa gq, foLFkkiu dk eku_____ m gSA

Question ID:11694058

Ans. Official Answer NTA (48)

Sol.

29. A pulley of radius 1.5 m is rotated about its axis by a force F = (12t – 3t2) N applied tangentially (while t is

measured in seconds). If moment of inertia of the pulley about its axis of rotation is 4.5 kg m2, the number of

rotations made by the pulley before its direction of motion is reversed, will be 


K
. The value of K is _____.

1.5 m f=kT;k  okyh ,d f?kjuh]  F = (12t – 3t2) N eku ds ,d Li'kZjs[kh; cy }kjk viuh v{k ds ifjr% ?kwe jgh gS

(tcfd t dk ekiu lsds.M esaa fd;k x;k gS) A ;fn f?kjuh  ds ?kw.kZu v{k ds lkis{k] f?kjuh dk tMRok?kw.kZ 4.5 kg m2 gSA

f?kjuh dh xfr dh fn'kk foijhr gksus ls igys] f?kjuh }kjk iwjs fd, x, ?kw.kZuksa dh la[;k dk eku 


K
 gSA K dk

eku____gSA

Question ID:11694059

Ans. Official Answer NTA (18)

Sol.

30. A ball of mass m is thrown vertically upward. Another ball of mass 2 m is thrown at an angle  with the vertical.

Both the balls stay in air for the same period of time. The ratio of the heights attained by the two balls respectively

is 
1

x
. The value of x is ______.

fdlh m nzO;eku dh xsan dks Å/okZ/kj Åij dh vksj Qsadk tkrk gSA 2 m nzO;eku dh fdlh nwljh xsan dks Å/oZ  dks.k

ij Qsadk tkrk gSA nksuks xsansa leku le; ds fy, gok esa jgrh gSaA nksuksa xsanksa }kjk izkIr dh xbZ Øe'k% vf/kdre Å¡pkb;ksa

dk vuqikr 
1

x
 gSA x dk eku ______gSA

Question ID:11694060

Ans. Official Answer NTA (1)

Sol.


